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Q1: Choose the correct option. (1x5 =5)  

a) Decimal form of 88/100 

I) 0.88ii)  0.088  iii) 0.008 

b) Smallest unit of time 

I) Second ii) minute iii) none of these 

c) How many minutes in 3 hour?  

I)  120 min    ii) 180 min   iii) none of these 

d) Add 0.8 & 0.6 

I) 0.14  ii) 1.4   iii) 140 

e) Cost of one article help us to find the cost of number of 

a)  Same article  b) different article iii) none of these  

Q2 :write true or false ( 1x5 =5)  

a)  2 & 5/10 =  2.05                                      ( )  

b) )A line segment has a definite length.       ( )  

c) Perimeter of triangle is sum of all  four sides                         ( ) 

d)  Multiplying 20 by 100  is 2000 ( )  

e) 1 gm = 1000 gm                          ( )  

Q3: Fill in the blanks (1x5 =5)  

a) 6345 m = ……km……metres. 

b) Cnvret 6 hour  =………..minutes 

c) Observe the pattern and write the missing number 

1.02 , 1.03 , 1.04  --   , ---- 

d) Expanded form of 13.5 = .……  

e) Types of  graph  is Horizontal & … .. …  

Q4: Solve the following (2x6=12)  

a) How many line segment are there  in this figure.  

 

 

 

 



 

    

 

 

 

 

 

 

 

b) Is 1972 is a leap year?  

c) ₹ 37.6 X9 = 

d) Convert 2230 hour into 12 hour clock  .  

 

e) Subtract    39m 32 cm from 45m   80cm. 

 

f) Convert 8950 gm into kilogram and gram.  

  

Q5:Solve the following (3x 5=15)  

Answer the following question on the basic of given pictograph.  

I) 1 plant represent 10 plant.  

 

 

a) How many plant are planted on Tuesday?  

b) In which  day minimum plant are planted.  

c) What is the difference between maximum and minimum plant.  

 

II) Add 5 hours 39 min and 6 hours 40 minutes . 

 

III)  Kanta  bought a  TV set  for ₹ 4010 and watch  for ₹ 1230 . How much money did she spent all.  

 

 

Q6:Solve the following (4x2=8)  

 



 

    

 

a) The weekly sale of shoes in a shop  shown in the bar graph given below.  

 

 

b) Mukesh can walk 36 kn in 12 hours. How far can he walk in 6 hours.  


